DAILY HOMEWORK FOR CLASS -4
18/05/2020

WRITE:
ENG LANG:-
1- Write the definition of sentence with examples.
2- Make sentences on the given words- School,
holiday,
study,
homework,
learn.
*Ek¥Akx** ( CHAPTER-THE SENTENCE — VEDIO- SESSION -1 )*#* &%k

ENG LIT:-

Answer the following questions-

1- What did Pinocchio do in school?

2- Where did the carpenter use the plane?
3- What did you learn from the story?

SCIENCE:-

Revision module 1 states of matter-
Define the following terms-

a) Matter

b) Molecule c)Freezing

d) Melting

MATHS:- Solve the question no: 7, 8,9 picture given below in HW.
*EkX*kEX (VIDEO- NUMBER SYSTEM —SESSION-7) ****%**

S.ST:-
Explain term - symbol
Q1-Write the name of our national flag ?
*kkEx%kEX (VIDEO - SESSION-1, 2 — NATIONAL SYMBOLS OF INDIA)  Fxkkxxk

COMPUTER:-

Define the terms-

1- Printer- Printer is an output device which provides information on paper, the printed copy is known as hard
copy.

2- Barcode- A barcode is a sequence of black lines on a white background it has numbers written on it . It is used in
supermarkets and libraries etc.

3- Barcode Reader- A Barcode reader is an electronic device which is able to scan and decode barcode printed on

various products.

fe=dl : T Y afsma forah
* 3 ok ok ok ok K m_wamma;m_ PRELESEL



LEARN:
ENG LANG:- Definition of sentence with examples.

ENG LIT: 3 new words.

SCIENCE: Written work

MATHS- Definition of successor and predecessor..
SST: Written work.

COMP: Written work
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Skip Counting

Suppose, stating with a geven numbes, we write a seguence of numbers wath a fixed gap between two
successrve numbers, then such a counting s known 25 sho countng

Counting by twas means there 15 2 gao of 2 in every two successive numbers

Counting by tens means there = a gap of 10 i every bwo successive numbers, and so on.

Example 3: Counting by fives write numbers from 26819 to 268445,

Solution The required numbers are:

26819, 26824, 26829, 26834, 76B39, 26824

m Exercise 4

Find the place value of the underlined digit in each of the following numerals.

(a) 10791 (b) 23076 () 46307 (d) 235,941

() 837.209 () 52.47.296 () 35.61.209 (h) 2.75.600
2. Find the place value of each of the digits in the following numerals.

(2) .37 (b) 61450 (c) 213504 (d) 38.60.429

3. Find the difference between the plice value and face value of 6 In 4.61,503.

4. Find the ddierence between the place values of 3 and 7 in the numeral 1,03, 476,

5. Ffind the difference between the place values of 8 in 48,946,500 and 15,B0,776.

6. Write each of the following numbers in expanded form.
{a) 23308 (d) 173527 (c) 3.09.057
(d) 429010 {¢) 16.07.503 (f) 8060715

7. Write each of the following in short form.
{2) 10000 + 3000 + 500 « 70+ E=
() 30000+ 700 +B0+4=
{c) SDODO+40+3=
{d) 20000+ 1=
{e) 2,00,000+ 3000+ 100 +3=
{f) 3000000 + 60,000 + 500 =
(2) S.00000+ 3000+ 7=

8. Write the successor of each of the following numbers.

(a) 13579 (b) 23009 (c) 29,099 (d) 34999

(¢) 451399 {f} 2867003 () 35.59.999 (h) 9995259
9. Write the predecessor of each of the following numbers.

{2) 35000 {(b) a3.700 (c) &%,100 (d) 1.20.000

(¢) 4.05.000 (f) 28.60.100 (g) 6631700 (h) 6B.10.000



